E>»restart;

> 18 mod 5;
i 3
> 2 mod 5;
i 2
> -3 mod 5;

2

> 1875705890543 mod 37;
[ Error, numeric exception: overflow

> 18&"5705890543 mod 37;

19

> p:=nextprime(02789540789543207895432532890475727890643) ;
p :=2789540789543207895432532890475727890669
> (:=nextprime
(02789540789543207895432552435432543232890475727890643) ;
q = 2789540789543207895432552435432543232890475727890681

=>»isprime(p),isprime(q);
true, true

N:=p*q;
77815378165253436837269239302467329757091304857045008822225217450070408989\
| 27466084751955589

> PhiN:=(p-1)*(q-1);
PhiN :=
7781537816525343683726923930246732975706340944914954884786299649363712923 1\
61685133296174240

e:=rand(1l..PhiN) ();

B
N:

e
22416379746916276654283762500774850217544287796668838253921278780679159579\
6262817240853951

(> igcd(PhiN,e);
=>»igcdex(PhiN,e,'L','M');

=>»L,M;
-3007703480094709823816143861873073651304745132121945338906953859843751275249\

8479837677336,
10440828820484060785773682805253043843439265970578968388877095043987313560\
i 91108853067920191
> Mtwo:=M mod PhiN;
Mtwo =
10440828820484060785773682805253043843439265970578968388877095043987313560\
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| 91108853067920191

i d:=Mtwo;
d = (15)
104408288204840607857736828052530438434392659705789683888770950439873 13560\
| 91108853067920191
| > #or just:
L (16)
> d:=(e)&™(-1) mod(PhiN);
d:= 17
10440828820484060785773682805253043843439265970578968388877095043987313560\
| 91108853067920191
B X:=5945354542542354322355425425432;
i X :=5945354542542354322355425425432 (18)
> ENCRYPTED:=X&"e mod N;
ENCRYPTED = (19)
67793766846010160313294353432443139161000111319510299338627558549270816096\
| 35559569320873300
> DECRYPTED:=ENCRYPTED&™d mod N;
DECRYPTED :=5945354542542354322355425425432 (20)




